

Article

On a class of p -valent functions with negative coefficients defined by opoola differential operator

Bitrus Sambo^{1,*} and Timothy Oloyede Opoola²

¹ Department of Mathematics, Gombe State University, P.M.B. 127, Gombe, Nigeria.

² Department of Mathematics, University of Ilorin, P.M.B. 1515, Ilorin, Nigeria.

* Correspondence: bitrussambo3@gmail.com

Communicated by: Absar Ul Haq

Received: 5 November 2022; Accepted: 24 November 2022; Published: 30 December 2022.

Abstract: Using opoola differential operator, we defined a subclass $S_p^n(\lambda, \alpha, \gamma, \delta)$ of the class of multivalent or p -valent functions. Several properties of the class were studied, such as coefficient inequalities, hadamard product, radii of close-to-convex, star-likeness, convexity, extreme points, the integral mean inequalities for the fractional derivatives, and further growth and distortion theorem are given using fractional calculus techniques.

Keywords: Multivalent functions; Opoola differential operator; Coefficient inequalities; Closure property.

MSC: 30C45; 30C50; 30C55.

1. Introduction

Let A denote the class of all functions, $f(z)$ normalized by

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (1)$$

which are analytic in the unit disc $U = \{z : |z| < 1\}$.

Definition 1. [1] For $f(z) \in A$, Opoola introduced the following operator:

$$\begin{aligned} D^0(\mu, \beta, t)f(z) &= f(z), \\ D^1(\mu, \beta, t)f(z) &= zD_t f(z) = tzf'(z) - z(\beta - \mu)t + [1 + (\beta - \mu - 1)t]f(z), \\ D^n(\mu, \beta, t)f(z) &= zD_t(D^{n-1}(\mu, \beta, t)f(z)), \end{aligned} \quad n \in N. \quad (2)$$

If $f(z)$ is given by (1), then from (2), we see that

$$D^n(\mu, \beta, t)f(z) = z + \sum_{k=2}^{\infty} [1 + (k + \beta - \mu - 1)t]^n a_k z^k, \quad (3)$$

($0 \leq \mu \leq \beta$, $t \geq 0$ and $n \in N_0 = N \cup 0$).

Remark 1. 1. When $\beta = \mu$, $t = 1$, $D^n(\mu, \beta, t)f(z) = D^n f(z)$ by Salagean [2],
2. When $\beta = \mu$, $D^n(\mu, \beta, t)f(z) = D_\lambda^n f(z)$ by Al-Oboudi [3].

Definition 2. Let A_p denote the class of functions of the form:

$$f(z) = z^p + \sum_{k=p+1}^{\infty} a_k z^k, \quad (p = 1, 2, \dots), \quad (4)$$

which are analytic and multivalent in the open unit disc $U = \{z \in \mathbb{C} : |z| < 1\}$. We define the following differential operator for the functions $f(z) \in A_p$

$$\begin{aligned} D^0(\mu, \beta, t, p)f(z) &= f(z), \\ D^1(\mu, \beta, t, p)f(z) &= zD_{t,p}f(z) = \frac{t}{p}zf'(z) - z^p(\beta - \mu)t + [1 + (\beta - \mu - 1)t]f(z), \\ D^n(\mu, \beta, t, p)f(z) &= zD_{t,p}(D^{n-1}(\mu, \beta, t, p)f(z)), \end{aligned} \quad n \in \mathbb{N}. \tag{5}$$

If $f(z)$ is given by (4), then from (5), we see that

$$D^n(\mu, \beta, t, p)f(z) = z^p + \sum_{k=p+1}^{\infty} \left[1 + \left(\frac{k}{p} + \beta - \mu - 1\right)t\right]^n a_k z^k, \tag{6}$$

($0 \leq \mu \leq \beta, t \geq 0$ and $n \in N_0 = \mathbb{N} \cup 0$).

Let T_p denote the subclass of A_p consisting of functions of the form

$$f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k, \quad (a_k \geq 0, p = 1, 2, \dots). \tag{7}$$

If $f(z)$ is given by Eq. (7), then from Eq. (5), we get

$$D^n(\mu, \beta, t, p)f(z) = z^p - \sum_{k=p+1}^{\infty} \left[1 + \left(\frac{k}{p} + \beta - \mu - 1\right)t\right]^n a_k z^k, \tag{8}$$

($n \in N_0, a_k \geq 0, p = 1, 2, \dots, 0 \leq \mu \leq \beta, t \geq 0, n \in N_0 = \mathbb{N} \cup 0$).

Remark 2. When $\beta = \mu$ in (8), $D^n(\mu, \beta, t, p)f(z) = D_{\delta,p}^n f(z)$ defined by Bulut in [4]. Now, from (8), it follows that $D^n(\mu, \beta, t, p)f(z)$ can be written in terms of Convolution as

$$D^n(\mu, \beta, t, p)f(z) = (f * g)(z),$$

where $f(z)$ is as in (7), while

$$g(z) = z^p - \sum_{k=p+1}^{\infty} \left[1 + \left(\frac{k}{p} + \beta - \mu - 1\right)t\right]^n z^k.$$

Definition 3. A function $f(z) \in T_p$ is in the class $S_p^n(\lambda, \alpha, \gamma, \delta)$ if

$$\left| \frac{(D^n(\mu, \beta, t, p)f(z))' - pz^{p-1}}{\lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma)} \right| < \delta, \quad (z \in U, n \in N_0), \tag{9}$$

for some $0 \leq \lambda < 1, 0 \leq \gamma < 1, 0 < \alpha \leq 1, 0 < \delta < 1, D^n(\mu, \beta, t, p)f(z)$ as defined in (8).

Remark 3. When $\mu = \beta$ in (9), the class $S_p^n(\lambda, \alpha, \gamma, \delta)$ reduces to the class $R_p^n(\alpha, \beta, \gamma, \mu)$ studied by Bulut in [4].

Definition 4. [5,6] The fractional integral of order l is defined, for function $f(z)$ by

$$D_z^{-l}f(z) = \frac{1}{\Gamma(l)} \int_0^z \frac{f(t)}{(z-t)^{1-l}} d(t), \quad (l > 0), \tag{10}$$

where $f(z)$ is an analytic function in a simply connected region of z -plane containing the origin, and the multiplicity of $(z-t)^{l-1}$ is removed by requiring $\log(z-t)$ to be real when $(z-t) > 0$.

Definition 5. [5,6] The fractional derivative of order l is defined, for function $f(z)$ by

$$D_z^l f(z) = \frac{1}{\Gamma(1-l)} \frac{d}{d(z)} \int_0^z \frac{f(t)}{(z-t)^l} d(t), \quad (0 \leq l < 1), \tag{11}$$

where f is an analytic function in a simply connected region of z -plane containing the origin, and the multiplicity of $(z-t)^{-l}$ is removed by requiring $\log(z-t)$ to be real when $(z-t) > 0$.

Definition 6. [5,6] Under the hypothesis of Definition 4, the fractional derivative of order $p+l$ is defined for functions $f(z)$, by

$$D_z^{p+l} f(z) = \frac{d^p}{d(z)^p} D_z^l f(z), \quad (0 \leq l < 1, p \in N_0). \tag{12}$$

It readily follows from (9) and (10) that

$$D_z^{-l} z^k = \frac{\Gamma(k+1)}{\Gamma(k+l+1)} z^{k+l}, \quad (l > 0, k \in N), \tag{13}$$

and

$$D_z^l z^k = \frac{\Gamma(k+1)}{\Gamma(k-l+1)} z^{k-l}, \quad (0 \leq l < 1, k \in N). \tag{14}$$

Lemma 1. [7] If $f(z)$ and $g(z)$ are analytic in U with $f(z) \prec g(z)$, then for $\sigma > 0$ and $z = re^{i\theta}$, ($0 < r < 1$), then

$$\int_0^{2\pi} |f(z)|^\sigma d\theta \leq \int_0^{2\pi} |g(z)|^\sigma d\theta.$$

In this work, several properties of the class $S_p^n(\lambda, \alpha, \gamma, \delta)$ are studied, such as coefficient inequalities, hadamard product, radii of close-to-convex, star-likeness, convexity, extreme points, the integral mean inequalities for the fractional derivatives, and further growth and distortion theorem are given using fractional calculus techniques. For more research on classes of multivalent or p -valent functions, see [7-18]

2. Main results

Theorem 1. A function $f(z) \in T_p$ is in the class $S_p^n(\lambda, \alpha, \gamma, \delta)$ if and only if

$$\sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda) a_k \leq \delta (\lambda p + \alpha - \gamma), \tag{15}$$

for some $0 \leq \lambda < 1, 0 \leq \gamma < 1, 0 < \alpha \leq 1, 0 < \delta < 1$. The result is sharp for the function $f(z)$ given by

$$f(z) = z^p - \frac{\delta (\lambda p + \alpha - \gamma)}{k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda)} z^k, \quad (k \geq p + 1).$$

Proof. Suppose that $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then we have from (9) that

$$\left| \frac{(D^n(\mu, \beta, t, p)f(z))' - pz^{p-1}}{\lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma)} \right| < \delta.$$

By substitution, we have

$$\left| \frac{pz^{p-1} - \sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n a_k z^{k-1} - pz^{p-1}}{\lambda(pz^{p-1} - \sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n a_k z^{k-1}) + (\alpha - \gamma)} \right| < \delta,$$

$$\left| \frac{\sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1}}{\lambda(pz^{p-1} - \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1}) + (\alpha - \gamma)} \right| < \delta.$$

Since $\Re z \leq |z|$, then

$$\Re \left\{ \frac{\sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1}}{\lambda(pz^{p-1} - \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1}) + (\alpha - \gamma)} \right\} < \delta.$$

If we choose z real and let $z \rightarrow 1^-$, then we get

$$\begin{aligned} \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k &\leq \delta \left[\lambda(p - \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k) + (\alpha - \gamma) \right], \\ \Rightarrow \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k &\leq \delta \lambda p - \delta \lambda \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k + \delta(\alpha - \gamma), \\ \Rightarrow \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k + \delta \lambda \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k &\leq \delta(\lambda p + \alpha - \gamma), \\ \Rightarrow \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (1 + \delta \lambda) a_k &\leq \delta(\lambda p + \alpha - \gamma). \end{aligned}$$

Conversely, suppose that the inequality (15) holds true and that $z \in \partial U : \{z \in \mathbb{C} : |z| = 1\}$ and suppose that

$$\begin{aligned} &\left| (D^n(\mu, \beta, t, p)f(z))' - pz^{p-1} \right| - \delta \left| \lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma) \right| \\ &\leq \left| (D^n(\mu, \beta, t, p)f(z))' - pz^{p-1} - \delta(\lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma)) \right| \\ &= \left| - \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1} - \delta \lambda pz^{p-1} \right. \\ &\quad \left. + \delta \lambda \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1} - \delta(\alpha - \gamma) \right| \\ &= \left| \sum_{k=p+1}^{\infty} (\delta \lambda - 1)k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k z^{k-1} - \delta(\lambda pz^{p-1} + \alpha - \gamma) \right| \\ &\leq \sum_{k=p+1}^{\infty} (\delta \lambda - 1)k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n a_k - \delta(\lambda p + \alpha - \gamma) \\ &\leq \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (\delta \lambda + 1)a_k - \delta(\lambda p + \alpha - \gamma) \leq 0. \end{aligned}$$

Since by maximum modulus theorem, that the maximum modulus of an analytic function cannot be attained inside the domain but on the boundary, implies

$$\left| (D^n(\mu, \beta, t, p)f(z))' - pz^{p-1} \right| - \delta \left| \lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma) \right| < 0,$$

i.e.,

$$\left| (D^n(\mu, \beta, t, p)f(z))' - pz^{p-1} \right| < \delta \left| \lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma) \right|.$$

So,

$$\frac{|(D^n(\mu, \beta, t, p)f(z))' - pz^{p-1}|}{|\lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma)|} < \delta,$$

implies

$$\left| \frac{(D^n(\mu, \beta, t, p)f(z))' - pz^{p-1}}{\lambda(D^n(\mu, \beta, t, p)f(z))' + (\alpha - \gamma)} \right| < \delta.$$

Hence, we have that $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$.

Corollary 1. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then

$$a_{p+1} \leq \frac{\delta(\lambda p + \alpha - \gamma)p^n}{(p + 1)[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)}.$$

□

Theorem 2. The class $S_p^n(\lambda, \alpha, \gamma, \delta)$ is a class of convex functions.

Proof. Let the functions

$$f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k, \quad (a_k \geq 0, p = 1, 2, \dots), \tag{16}$$

$$g(z) = z^p - \sum_{k=p+1}^{\infty} b_k z^k, \quad (b_k \geq 0, p = 1, 2, \dots), \tag{17}$$

be in the class $S_p^n(\lambda, \alpha, \gamma, \delta)$, then for $0 \leq j \leq 1$

$$h(z) = (1 - j)f(z) + jg(z) = z^p - \sum_{k=p+1}^{\infty} c_k z^k,$$

where $c_k = (1 - j)a_k + jb_k \geq 0$, then making use of (15), we see that

$$\begin{aligned} & \sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta\lambda) c_k \\ &= \sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta\lambda) a_k + \sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta\lambda) b_k \\ &< (1 - j)\delta(\lambda p + \alpha - \gamma) + j\delta(\lambda p + \alpha - \gamma) \\ &= \delta(\lambda p + \alpha - \gamma) - j\delta(\lambda p + \alpha - \gamma) + j\delta(\lambda p + \alpha - \gamma) \\ &= \delta(\lambda p + \alpha - \gamma), \end{aligned}$$

implies $h(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, which completes the proof. □

Theorem 3. If each of the functions $f(z)$ and $g(z)$ is in the class $S_p^n(\lambda, \alpha, \gamma, \delta)$, then $(f * g)(z) \in S_p^n(\lambda, \alpha, \gamma, \Omega)$, where $\Omega \geq \frac{\delta^2(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)^2 - \delta^2\lambda(\lambda p + \alpha - \gamma)}$.

Proof. From (15), we have

$$\sum_{k=p+1}^{\infty} \frac{k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} a_k \leq 1, \tag{18}$$

and

$$\sum_{k=p+1}^{\infty} \frac{k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} b_k \leq 1. \tag{19}$$

We need to find the smallest Ω such that

$$\sum_{k=p+1}^{\infty} \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \Omega\lambda)}{\Omega(\lambda p + \alpha - \gamma)} a_k b_k \leq 1. \tag{20}$$

From (18) and (19), we find by means of Cauchy-Schwarz inequalities that

$$\sum_{k=p+1}^{\infty} \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \sqrt{a_k b_k} \leq 1. \tag{21}$$

Thus, it is enough to show that

$$\frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \Omega\lambda)}{\Omega(\lambda p + \alpha - \gamma)} a_k b_k \leq \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \sqrt{a_k b_k}.$$

That is

$$\sqrt{a_k b_k} \leq \frac{\Omega(1 + \delta\lambda)}{\delta(1 + \Omega\lambda)}. \tag{22}$$

On the other hand, from (21), we have

$$\sqrt{a_k b_k} \leq \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}. \tag{23}$$

Therefore, in view of (22) and (23), it is enough to show that

$$\frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} \leq \frac{\Omega(1 + \delta\lambda)}{\delta(1 + \Omega\lambda)},$$

i.e.,

$$\delta(\lambda p + \alpha - \gamma)\delta(1 + \Omega\lambda) \leq kM(1 + \delta\lambda)\Omega(1 + \delta\lambda),$$

where $M = [1 + (\frac{k}{p} + \beta - \mu - 1)t]^n$. So,

$$\delta^2[(\lambda p + \alpha - \gamma) + \Omega\lambda(\lambda p + \alpha - \gamma)] \leq k\Omega M(1 + \delta\lambda)^2,$$

implies

$$\delta^2(\lambda p + \alpha - \gamma) + \delta^2\Omega\lambda(\lambda p + \alpha - \gamma) \leq k\Omega M(1 + \delta\lambda)^2,$$

implies

$$\delta^2(\lambda p + \alpha - \gamma) \leq k\Omega M(1 + \delta\lambda)^2 - \delta^2\Omega\lambda(\lambda p + \alpha - \gamma).$$

Also

$$\Omega [kM(1 + \delta\lambda)^2 - \delta^2\lambda(\lambda p + \alpha - \gamma)] \geq \delta^2(\lambda p + \alpha - \gamma),$$

implies

$$\Omega \geq \frac{\delta^2(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)^2 - \delta^2\lambda(\lambda p + \alpha - \gamma)}.$$

□

Theorem 4. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then $f(z)$ is p -valently close-to-convex of order ρ in $|z| < r_1(\lambda, \alpha, \gamma, \delta, \rho)$, where

$$r_1(\lambda, \alpha, \gamma, \delta, \rho) = \inf_k \left\{ \frac{[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)(p - \rho)}{\delta(\lambda p + \alpha - \gamma)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1).$$

Proof. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| < p - \rho,$$

implies

$$\left| \frac{pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1} - pz^{p-1}}{z^{p-1}} \right| = \left| \sum_{k=p+1}^{\infty} ka_k z^{k-p} \right| \leq \sum_{k=p+1}^{\infty} ka_k |z|^{k-p} < p - \rho. \tag{24}$$

Since

$$\sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda) a_k \leq \delta (\lambda p + \alpha - \gamma), \tag{25}$$

hence, (24) is true if

$$\frac{k |z|^{k-p}}{p - \rho} < \frac{k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda)}{\delta (\lambda p + \alpha - \gamma)}. \tag{26}$$

Solving (26) for $|z|$, we obtain

$$|z| < \left\{ \frac{\left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda) (p - \rho)}{\delta (\lambda p + \alpha - \gamma)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1).$$

Hence, the proof. \square

Theorem 5. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then $f(z)$ is p -valently starlike of order ρ in $|z| < r_2(\lambda, \alpha, \gamma, \delta, \rho)$, where

$$r_2(\lambda, \alpha, \gamma, \delta, \rho) = \inf_k \left\{ \frac{k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t \right]^n (1 + \delta \lambda) (p - \rho)}{\delta (\lambda p + \alpha - \gamma) (k - p)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1).$$

Proof. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then

$$\left| \frac{zf'(z)}{f(z)} - p \right| < p - \rho.$$

The inequality

$$\begin{aligned} \left| \frac{zf'(z)}{f(z)} - p \right| &= \left| \frac{z(pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1}) - p(z^p - \sum_{k=p+1}^{\infty} a_k z^k)}{z^p - \sum_{k=p+1}^{\infty} a_k z^k} \right| \\ &= \left| \frac{pz^p - \sum_{k=p+1}^{\infty} ka_k z^k - pz^p + p \sum_{k=p+1}^{\infty} a_k z^k}{z^p - \sum_{k=p+1}^{\infty} a_k z^k} \right|. \end{aligned} \tag{27}$$

Since

$$\left| \frac{-\sum_{k=p+1}^{\infty} (k-p)ka_k z^k}{z^p - \sum_{k=p+1}^{\infty} a_k z^k} \right| = \left| \frac{\sum_{k=p+1}^{\infty} (k-p)a_k z^{k-p}}{1 - \sum_{k=p+1}^{\infty} a_k z^{k-p}} \right| \leq \frac{\sum_{k=p+1}^{\infty} (k-p)a_k |z|^{k-p}}{1 - \sum_{k=p+1}^{\infty} a_k |z|^{k-p}} < p - \rho, \tag{28}$$

i.e.,

$$\begin{aligned} \sum_{k=p+1}^{\infty} ka_k |z|^{k-p} - \sum_{k=p+1}^{\infty} pa_k |z|^{k-p} &< (p - \rho) \left(1 - \sum_{k=p+1}^{\infty} a_k |z|^{k-p} \right) \\ &= \sum_{k=p+1}^{\infty} ka_k |z|^{k-p} - \sum_{k=p+1}^{\infty} pa_k |z|^{k-p} \end{aligned}$$

$$\begin{aligned}
 &< p - \sum_{k=p+1}^{\infty} pa_k |z|^{k-p} - \rho + \sum_{k=p+1}^{\infty} \rho a_k |z|^{k-p} \\
 &= \sum_{k=p+1}^{\infty} ka_k |z|^{k-p} - \sum_{k=p+1}^{\infty} \rho a_k |z|^{k-p} \\
 &< p - \rho \\
 &= \sum_{k=p+1}^{\infty} \frac{(k - \rho)a_k |z|^{k-p}}{p - \rho} \\
 &< 1.
 \end{aligned}$$

Since

$$\sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (1 + \delta\lambda)a_k \leq \delta(\lambda p + \alpha - \gamma).$$

This holds true if

$$\frac{(k - \rho) |z|^{k-p}}{p - \rho} < \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)},$$

$$|z| < \left\{ \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (1 + \delta\lambda)(p - \rho)}{(k - p)\delta(\lambda p + \alpha - \gamma)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1),$$

hence, the proof. \square

Theorem 6. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then $f(z)$ is p -valently convex of order ρ in $|z| < r_3(\lambda, \alpha, \gamma, \delta, \rho)$, where

$$r_3(\lambda, \alpha, \gamma, \delta, \rho) = \inf_k \left\{ \frac{[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n (1 + \delta\lambda)p(p - \rho)}{\delta(\lambda p + \alpha - \gamma)(k - p)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1).$$

Proof. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then

$$\left| 1 + \frac{zf''(z)}{f'(z)} - p \right| < p - \rho.$$

The inequality

$$\begin{aligned}
 &\left| 1 + \frac{zf''(z)}{f'(z)} - p \right| \\
 &= \left| \frac{pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1} + z(p(p-1)z^{p-2} - \sum_{k=p+1}^{\infty} k(k-1)a_k z^{k-2}) - p(pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1})}{pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1}} \right| \\
 &= \left| \frac{pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1} + p(p-1)z^{p-1} - \sum_{k=p+1}^{\infty} k(k-1)a_k z^{k-1} - p^2 z^{p-1} + \sum_{k=p+1}^{\infty} pka_k z^{k-1}}{pz^{p-1} - \sum_{k=p+1}^{\infty} ka_k z^{k-1}} \right| \\
 &= \left| \frac{-\sum_{k=p+1}^{\infty} k(k-p)a_k z^{k-p}}{p - \sum_{k=p+1}^{\infty} ka_k z^{k-p}} \right| \\
 &\leq \frac{\sum_{k=p+1}^{\infty} k(k-p)a_k |z|^{k-p}}{p - \sum_{k=p+1}^{\infty} ka_k |z|^{k-p}} \\
 &< p - \rho.
 \end{aligned}$$

So,

$$\sum_{k=p+1}^{\infty} k(k-p)a_k |z|^{k-p} < (p - \rho)(p - \sum_{k=p+1}^{\infty} ka_k |z|^{k-p}),$$

implies

$$\sum_{k=p+1}^{\infty} k(k-p)a_k |z|^{k-p} < p(p-\rho) - (p-\rho) \sum_{k=p+1}^{\infty} ka_k |z|^{k-p},$$

implies

$$\sum_{k=p+1}^{\infty} k(k-\rho)a_k |z|^{k-p} < p(p-\rho).$$

Since $\sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)a_k \leq \delta(\lambda p + \alpha - \gamma)$. This is true if

$$\frac{k(k-\rho) |z|^{k-p}}{p(p-\rho)} < \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)},$$

$$|z| < \left\{ \frac{[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)p(p-\rho)}{(k-p)\delta(\lambda p + \alpha - \gamma)} \right\}^{\frac{1}{k-p}}, \quad (k \geq p + 1),$$

hence, the proof. \square

Theorem 7. Let

$$f_p(z) = z^p, f_k(z) = z^p - \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k, \quad (k \geq p + 1), \quad (29)$$

then, $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$ if and only if it can be expressed in the form

$$f(z) = \lambda_p f_p(z) + \sum_{k=p+1}^{\infty} \lambda_k f_k(z),$$

where $\lambda_p \geq 0$ and $\lambda_p + \sum_{k=p+1}^{\infty} \lambda_k = 1$.

Proof. Assume that $f(z) = \lambda_p f_p(z) + \sum_{k=p+1}^{\infty} \lambda_k f_k(z)$, then

$$f(z) = (1 - \sum_{k=p+1}^{\infty} \lambda_k) z^p + \sum_{k=p+1}^{\infty} \lambda_k \left\{ z^p - \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k \right\}, \quad (30)$$

implies

$$f(z) = z^p - \sum_{k=p+1}^{\infty} \lambda_k \left\{ \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} \right\} z^k.$$

Thus,

$$\begin{aligned} & \sum_{k=p+1}^{\infty} k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\lambda_k \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} \\ &= \delta(\lambda p + \alpha - \gamma) \sum_{k=p+1}^{\infty} \lambda_k = \delta(\lambda p + \alpha - \gamma)(1 - \lambda_p) \leq \delta(\lambda p + \alpha - \gamma), \end{aligned}$$

which shows that $f(z)$ satisfies condition (15) and therefore, $f \in S_p^n(\lambda, \alpha, \gamma, \delta)$.

Conversely, suppose that $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, since

$$a_k \leq \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}, \quad (k \geq p + 1),$$

we may set

$$\lambda_k = \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} a_k,$$

$$\lambda_p = 1 - \sum_{k=p+1}^{\infty} \lambda_k,$$

then we obtain from $f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$,

$$f(z) = (\lambda_p + \sum_{k=p+1}^{\infty} \lambda_k) z^p - \sum_{k=p+1}^{\infty} \lambda_k \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k,$$

i.e.,

$$f(z) = \lambda_p z^p + \sum_{k=p+1}^{\infty} \lambda_k (z^p - \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k),$$

implies

$$f(z) = \lambda_p z^p + \sum_{k=p+1}^{\infty} \lambda_k f_k(z).$$

This completes the proof. \square

Corollary 2. The extreme points of $S_p^n(\lambda, \alpha, \gamma, \delta)$ are given by;

$$f_p(z) = z^p,$$

$$f_k(z) = z^p - \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k, \quad (k \geq p + 1).$$

Theorem 8. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$ and suppose that

$$\sum_{j=p+1}^{\infty} (j - q)_{q+1} a_j \leq \frac{\delta(\lambda p + \alpha - \gamma) \Gamma(k + 1) \Gamma(2 + p - l - q)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda) \Gamma(k + 1 - l - q) \Gamma(p + 1 - q)}, \quad (31)$$

for some $0 \leq q \leq j, 0 \leq l < 1, (j - q)_{q+1}$ denotes the pochhammer symbol defined by $(j - q)_{q+1} = (j - q)(j - q + 1) \dots j$. Also, let the function

$$f_k(z) = z^p - \frac{\delta(\lambda p + \alpha - \gamma)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)} z^k \quad (k \geq p + 1). \quad (32)$$

If there exists an analytic function $w(z)$ defined by

$$(w(z))^{k-p} = \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k + 1 - l - q)}{\Gamma(k + 1)} \sum_{j=p+1}^{\infty} (j - q)_{q+1} \psi(j) a_j z^{j-p}, \quad (33)$$

with $(k \geq q)$

$$\Psi(j) = \frac{\Gamma(j - q)}{\Gamma(j + 1 - l - q)}, \quad (0 \leq l < 1, j \geq p + 1),$$

then, for $\sigma > 0$ and $z = re^{i\theta}, (0 < r < 1)$,

$$\int_0^{2\pi} |D_z^{q+1} f(z)|^\sigma d\theta \leq \int_0^{2\pi} |D_z^{q+1} f_k(z)|^\sigma d\theta. \quad (34)$$

Proof. Let $f(z) = z^p - \sum_{j=p+1}^{\infty} a_j z^j$. By means of (12) and Definition 6, we have

$$\begin{aligned} D_z^{q+l} f(z) &= \frac{\Gamma(p+1)z^{p-l-q}}{\Gamma(p+1-l-q)} - \sum_{j=p+1}^{\infty} \frac{\Gamma(j+1)}{\Gamma(j+1-l-q)} a_j z^{j-l-q} \\ &= \frac{\Gamma(p+1)z^{p-l-q}}{\Gamma(p+1-l-q)} \left[1 - \sum_{j=p+1}^{\infty} \frac{\Gamma(j+1)\Gamma(p+1-l-q)}{\Gamma(p+1)\Gamma(j+1-l-q)} a_j z^{j-p} \right] \end{aligned} \tag{35}$$

$$= \frac{\Gamma(p+1)z^{p-l-q}}{\Gamma(p+1-l-q)} \left[1 - \sum_{j=p+1}^{\infty} \frac{\Gamma(p+1-l-q)}{\Gamma(p+1)} (j-q)_{q+1} \Psi(j) a_j z^{j-p} \right], \tag{36}$$

where $\Psi(j) = \frac{\Gamma(j-q)}{\Gamma(j+1-l-q)}$, $(0 \leq l < 1, j \geq p+1)$. Since ψ is a decreasing function of j , we get

$$0 < \Psi(j) \leq \Psi(p+1) = \frac{\Gamma(p+1-q)}{\Gamma(2+p-l-q)}.$$

Similarly, from (32), (14), and Definition 6, we have

$$\begin{aligned} D_z^{q+l} f_k(z) &= \frac{\Gamma(p+1)z^{p-l-q}}{\Gamma(p+1-l-q)} - \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k+1)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(k+1-l-q)} z^{k-l-q} \\ &= \frac{\Gamma(p+1)z^{p-l-q}}{\Gamma(p+1-l-q)} \left[1 - \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k+1)\Gamma(p+1-l-q)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(p+1)\Gamma(k+1-l-q)} z^{k-p} \right]. \end{aligned} \tag{37}$$

For some $\sigma > 0$ and $z = re^{i\theta}$, $(0 < r < 1)$, we show that

$$\begin{aligned} &\int_0^{2\pi} \left| 1 - \sum_{j=p+1}^{\infty} \frac{\Gamma(p+1-l-q)}{\Gamma(p+1)} (j-q)_{q+1} \psi(j) a_j z^{j-p} \right|^\sigma d(\theta) \\ &\leq \int_0^{2\pi} \left| 1 - \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k+1)\Gamma(p+1-l-q)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(p+1)\Gamma(k+1-l-q)} z^{k-p} \right|^\sigma d(\theta), \end{aligned} \tag{38}$$

so, by applying Lemma 1, it is enough to show that

$$\begin{aligned} &1 - \sum_{j=p+1}^{\infty} \frac{\Gamma(p+1-l-q)}{\Gamma(p+1)} (j-q)_{q+1} \psi(j) a_j z^{j-p} \\ &< 1 - \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k+1)\Gamma(p+1-l-q)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(p+1)\Gamma(k+1-l-q)} z^{k-p}. \end{aligned} \tag{39}$$

If the above subordination holds true, then we have an analytic function $w(z)$ with $w(0) = 0$, $|w(z)| < 1$, such that

$$\begin{aligned} &1 - \sum_{j=p+1}^{\infty} \frac{\Gamma(p+1-l-q)}{\Gamma(p+1)} (j-q)_{q+1} \psi(j) a_j z^{j-p} \\ &= 1 - \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k+1)\Gamma(p+1-l-q)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(p+1)\Gamma(k+1-l-q)} w(z)^{k-p}. \end{aligned} \tag{40}$$

By the condition of the Theorem, we define the function $w(z)$ by

$$(w(z))^{k-p} = \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k+1-l-q)}{\Gamma(k+1)} \sum_{j=p+1}^{\infty} (j-q)_{q+1} \psi(j) a_j z^{j-p}, \tag{41}$$

which readily yields $w(0) = 0$. For such a function $w(z)$, we have

$$\begin{aligned} |(w(z))|^{k-p} &\leq \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k + 1 - l - q)}{\Gamma(k + 1)} \sum_{j=p+1}^{\infty} (j - q)_{q+1} \psi(j) a_j |z|^{j-p} \\ &\leq |z| \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k + 1 - l - q)}{\Gamma(k + 1)} \psi(p + 1) \sum_{j=p+1}^{\infty} (j - q)_{q+1} a_j \\ &= |z| \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k + 1 - l - q)\Gamma(p + 1 - q)}{\Gamma(k + 1)\Gamma(2 + p - l - q)} \sum_{j=p+1}^{\infty} (j - q)_{q+1} a_j \\ &\leq |z| < 1. \end{aligned} \tag{42}$$

By means of the hypothesis of the theorem, the result is proved. \square

As a special case $q = 0$, we have following results from Theorem 8.

Corollary 3. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$ and suppose that

$$\sum_{j=p+1}^{\infty} j a_j \leq \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k + 1)\Gamma(2 + p - l)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(k + 1 - l)\Gamma(p + 1)}, \quad (j \geq p + 1), \tag{43}$$

if there exists an analytic function $w(z)$ defined by

$$(w(z))^{k-p} = \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k + 1 - l)}{\Gamma(k + 1)} \sum_{j=p+1}^{\infty} j \Psi(j) a_j z^{j-p}, \tag{44}$$

with

$$\psi(j) = \frac{\Gamma(j)}{\Gamma(j + 1 - l)}, \quad (0 \leq l < 1, j \geq p + 1),$$

then, for $\sigma > 0$ and $z = re^{i\theta}$, $(0 < r < 1)$

$$\int_0^{2\pi} |D_z^l f(z)|^\sigma d\theta \leq \int_0^{2\pi} |D_z^l f_k(z)|^\sigma d\theta. \tag{45}$$

Letting $q = 1$, we have the following from Theorem 8.

Corollary 4. Let $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$ and suppose that

$$\sum_{j=p+1}^{\infty} j(j - 1) a_j \leq \frac{\delta(\lambda p + \alpha - \gamma)\Gamma(k + 1)\Gamma(p + 1 - l)}{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)\Gamma(k - l)\Gamma(p)}, \quad (j \geq p + 1), \tag{46}$$

if there exists an analytic function $w(z)$ define by

$$(w(z))^{k-p} = \frac{k[1 + (\frac{k}{p} + \beta - \mu - 1)t]^n(1 + \delta\lambda)}{\delta(\lambda p + \alpha - \gamma)} \frac{\Gamma(k - l)}{\Gamma(k + 1)} \sum_{j=p+1}^{\infty} j(j - 1) \Psi(j) a_j z^{j-p}, \tag{47}$$

with

$$\psi(j) = \frac{\Gamma(j - 1)}{\Gamma(j - l)}, \quad (0 \leq l < 1, j \geq p + 1),$$

then, for $\sigma > 0$ and $z = re^{i\theta}$, ($0 < r < 1$)

$$\int_0^{2\pi} \left| D_z^{1+l} f(z) \right|^\sigma d\theta \leq \int_0^{2\pi} \left| D_z^{1+l} f_k(z) \right|^\sigma d\theta, \quad (0 \leq l < 1). \tag{48}$$

Theorem 9. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then we have

$$\left| D_z^{-l} f(z) \right| \leq \frac{\Gamma(p+1)}{\Gamma(p+l+1)} |z|^{p+l} \left[1 + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t^n(1 + \delta\lambda)](p+l+1)} |z| \right],$$

and

$$\left| D_z^{-l} f(z) \right| \geq \frac{\Gamma(p+1)}{\Gamma(p+l+1)} |z|^{p+l} \left[1 - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t^n(1 + \delta\lambda)](p+l+1)} |z| \right]. \tag{49}$$

Proof. Suppose that $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, using Theorem 1, we find that

$$\sum_{k=p+1}^{\infty} k \left[1 + \left(\frac{k}{p} + \beta - \mu - 1 \right) t^n (1 + \delta\lambda) \right] a_k \leq \delta(\lambda p + \alpha - \gamma),$$

implies

$$\frac{(p+1)[p + (p(\beta - \mu) + 1)t^n(1 + \delta\lambda)]}{p^n} \sum_{k=p+1}^{\infty} a_k \leq \delta(\lambda p + \alpha - \gamma), \tag{50}$$

i.e.,

$$\sum_{k=p+1}^{\infty} a_k \leq \frac{\delta(\lambda p + \alpha - \gamma)p^n}{(p+1)[p + (p(\beta - \mu) + 1)t^n(1 + \delta\lambda)]}. \tag{51}$$

From (7), if $f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$,

$$D_z^{-l} f(z) = \frac{\Gamma(p+1)}{\Gamma(p+l+1)} z^{p+l} - \sum_{k=p+1}^{\infty} \frac{\Gamma(k+1)}{\Gamma(k+l+1)} a_k z^{k+l},$$

implies

$$\frac{\Gamma(p+l+1)}{\Gamma(p+1)} z^{-l} D_z^{-l} f(z) = z^p - \sum_{k=p+1}^{\infty} \frac{\Gamma(k+1)\Gamma(p+l+1)}{\Gamma(p+1)\Gamma(k+l+1)} a_k z^k = z^p - \sum_{k=p+1}^{\infty} \Psi(k) a_k z^k, \tag{52}$$

where

$$\Psi(k) = \frac{\Gamma(k+1)\Gamma(p+l+1)}{\Gamma(p+1)\Gamma(k+l+1)}. \tag{53}$$

Clearly, ψ is a decreasing function of k and we get

$$0 < \Psi(k) \leq \Psi(p+1) = \frac{p+1}{p+l+1}.$$

Using (51) and (53), we obtain,

$$\begin{aligned} \left| \frac{\Gamma(p+l+1)}{\Gamma(p+1)} z^{-l} D_z^{-l} f(z) \right| &\leq |z|^p + \psi(p+1) |z|^{p+1} \sum_{k=p+1}^{\infty} a_k \\ &\leq |z|^p + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t^n(1 + \delta\lambda)](p+l+1)} |z|^{p+1}, \end{aligned}$$

which is equivalent to assertion (49) and

$$\begin{aligned} \left| \frac{\Gamma(p+l+1)}{\Gamma(p+1)} z^{-l} D_z^{-l} f(z) \right| &\geq |z|^p - \psi(p+1) |z|^{p+1} \sum_{k=p+1}^{\infty} a_k \\ &\geq |z|^p - \frac{\delta(\lambda p + \alpha - \gamma) p^n}{[p + (p(\beta - \mu) + 1)t]^n (1 + \delta\lambda)(p + l + 1)} |z|^{p+1}, \end{aligned}$$

which completes the proof. \square

Theorem 10. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then we have

$$\left| D_z^l f(z) \right| \leq \frac{\Gamma(p+1)}{\Gamma(p-l+1)} |z|^{p-l} \left[1 + \frac{\delta(\lambda p + \alpha - \gamma) p^n}{[p + (p(\beta - \mu) + 1)t]^n (1 + \delta\lambda)(p - l + 1)} |z| \right],$$

and

$$\left| D_z^l f(z) \right| \geq \frac{\Gamma(p+1)}{\Gamma(p-l+1)} |z|^{p-l} \left[1 - \frac{\delta(\lambda p + \alpha - \gamma) p^n}{[p + (p(\beta - \mu) + 1)t]^n (1 + \delta\lambda)(p - l + 1)} |z| \right]. \tag{54}$$

Proof. If $f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$, then

$$D_z^l f(z) = \frac{\Gamma(p+1)}{\Gamma(p-l+1)} z^{p-l} - \sum_{k=p+1}^{\infty} \frac{\Gamma(k+1)}{\Gamma(k-l+1)} a_k z^{k-l},$$

implies

$$\frac{\Gamma(p-l+1)}{\Gamma(p+1)} z^l D_z^l f(z) = z^p - \sum_{k=p+1}^{\infty} \frac{\Gamma(k+1)\Gamma(p-l+1)}{\Gamma(p+1)\Gamma(k-l+1)} a_k z^k = z^p - \sum_{k=p+1}^{\infty} \Psi(k) a_k z^k, \tag{55}$$

where

$$\Psi(k) = \frac{\Gamma(p-l+1)\Gamma(k+1)}{\Gamma(p+1)\Gamma(k-l+1)}. \tag{56}$$

Clearly, Ψ is a decreasing function of k and we get

$$0 < \Psi(k) \leq \Psi(p+1) = \frac{p+1}{p-l+1}.$$

Using (51) and (56), we obtain,

$$\begin{aligned} \left| \frac{\Gamma(p-l+1)}{\Gamma(p+1)} z^l D_z^l f(z) \right| &\leq |z|^p + \psi(p+1) |z|^{p+1} \sum_{k=p+1}^{\infty} a_k \\ &\leq |z|^p + \frac{\delta(\lambda p + \alpha - \gamma) p^n}{[p + (p(\beta - \mu) + 1)t]^n (1 + \delta\lambda)(p - l + 1)} |z|^{p+1}, \end{aligned}$$

which is equivalent to assertion (54).

Similarly,

$$\begin{aligned} \left| \frac{\Gamma(p-l+1)}{\Gamma(p+1)} z^l D_z^l f(z) \right| &\geq |z|^p - \Psi(p+1) |z|^{p+1} \sum_{k=p+1}^{\infty} a_k \\ &\geq |z|^p - \frac{\delta(\lambda p + \alpha - \gamma) p^n}{[p + (p(\beta - \mu) + 1)t]^n (1 + \delta\lambda)(p - l + 1)} |z|^{p+1}, \end{aligned}$$

which completes the proof. \square

Corollary 5. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then we have

$$|z|^p - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 1)} |z|^{p+1} \leq |f(z)| \leq |z|^p + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 1)} |z|^{p+1}. \tag{57}$$

Proof. From Definition 4, we have

$$\lim_{l \rightarrow 0} D_z^{-l} f(z) = f(z).$$

Therefore, setting $l = 0$ in (49), we obtain

$$|D_z^0 f(z)| \leq \frac{\Gamma(p + 1)}{\Gamma(p + 0 + 1)} |z|^{p+0} \left[1 + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 0 + 1)} |z| \right],$$

and

$$|D_z^0 f(z)| \geq \frac{\Gamma(p + 1)}{\Gamma(p + 0 + 1)} |z|^{p+0} \left[1 - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 0 + 1)} |z| \right],$$

i.e.,

$$|z|^p - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 1)} |z|^{p+1} \leq |f(z)| \leq |z|^p + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p + 1)} |z|^{p+1},$$

which is (57). \square

Corollary 6. If $f(z) \in S_p^n(\lambda, \alpha, \gamma, \delta)$, then we have

$$p |z|^{p-1} - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)} |z| \leq |f'(z)| \leq p |z|^{p-1} + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)} |z|. \tag{58}$$

Proof. From Definition 5, we have

$$\lim_{l \rightarrow 1} D_z^l f(z) = f'(z).$$

Therefore, setting $l = 1$ in (54), we obtain

$$|D_z^1 f(z)| \leq \frac{\Gamma(p + 1)}{\Gamma(p)} |z|^{p-1} \left[1 + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p)} |z| \right],$$

and

$$|D_z^1 f(z)| \geq \frac{\Gamma(p + 1)}{\Gamma(p)} |z|^{p-1} \left[1 - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)(p)} |z| \right],$$

i.e.,

$$p |z|^{p-1} - \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)} |z|^p \leq |f'(z)| \leq p |z|^{p-1} + \frac{\delta(\lambda p + \alpha - \gamma)p^n}{[p + (p(\beta - \mu) + 1)t]^n(1 + \delta\lambda)} |z|^p,$$

which is (58). \square

Acknowledgments: The authors would like to thank the referee for his/her valuable comments that resulted in the present improved version of the article.

Author Contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflicts of Interest: “The authors declare no conflict of interest.”

References

- [1] Timothy, O. O. (2017). On a subclass of Univalent Functions defined by a Generalized Differential operator. *International Journal of Mathematical Analysis*, 11(18), 869-876.
- [2] Sălăxăgean, G. S. (1981). Subclasses of Univalent Functions, Complex Analysis-Fifth Romanian-Finnish Seminar, Part 1 (Bucharest, 1981). *Lecture Notes in Math*, 362-372.
- [3] Al-Oboudi, F. M. (2004). On univalent functions defined by a generalized Salagean operator. *International Journal of Mathematics and Mathematical Sciences*, 2004(27), 1429-1436.
- [4] Bulut, S. (2010). On a class of analytic and multivalent functions with negative coefficients defined by Al-Oboudi differential operator. *Studia Universitatis Babeş-Bolyai Mathematica*, 55(4), 115-130.
- [5] Owa, S. (1978). On the distortion theorems I. *Kyungpook Mathematical Journal*, 18(1), 53-59.
- [6] Srivastava, H. M., & Owa, S. (Eds.). (1989). *Univalent Functions, Fractional Calculus, and their Applications*. Chichester: Ellis Horwood; New York; Toronto: Halsted Press.
- [7] Littlewood, J. E. (1925). On inequalities in the theory of functions. *Proceedings of the London Mathematical Society*, 2(1), 481-519.
- [8] Elumalai, M. (2016). On some coefficient estimates for certain subclass of analytic and multivalent functions. *IOSR Journal of Maths*, 12(6), 58-65.
- [9] Eker, S. S., & Seker, B. (2007). On a class of multivalent functions defined by Salagean operator. *General Mathematics*, 15(2-3), 154-163.
- [10] Deniz, E. (2012). On p -valently close-to-convex, starlike and convex functions. *Haceteepe Journal of Mathematics and Statistics*, 41(5), 635-642.
- [11] Kareem Oleiwi, A., M Abdulkadhim, M., & J Alhamadany, F. (2017). subclass of multivalent functions defined by using differential operator. *Journal of Kerbala University*, 13(1), 11-20.
- [12] Mahzoon, H., & Latha, S. (2010). On certain classes of p -valent functions defined by salagean. *General Mathematics*, 18(4), 53-60.
- [13] Mahzoon, H. (2012). New subclasses of multivalent functions defined by differential Subordination. *Applied Mathematical Sciences*, 6(95), 1501-1507.
- [14] Mostafa, A. O., & Aouf, M. K. (2009). Neighborhoods of certain p -valent analytic functions with complex order. *Computers & Mathematics with Applications*, 58(6), 1183-1189.
- [15] Salim, T. O. (2011). Certain classes of multivalent functions defined by a fractional differential operator. *General Mathematics*, 19(3), 75-84.
- [16] Akbulut, S., Kadioglu, E., & Özdemir, M. (2004). On the subclass of p -valently functions. *Applied Mathematics and Computation*, 147(1), 89-96.
- [17] Thirucheran, D. M., & Stalin, T. (2018A). New subclass of multivalent functions Defined by Al-Oboudi Differential operator. *International Journal of Pure and Applied Mathematics*, 119(16), 661-669.
- [18] Thirucheran, D. M., & Stalin, T. (2018). On a New Subclass of Multivalent Functions Defined by Al-Oboudi Differential Operator. *Global Journal of Pure and Applied Mathematics*, 14(5), 733-741.



© 2022 by the authors; licensee PSRP, Lahore, Pakistan. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC-BY) license (<http://creativecommons.org/licenses/by/4.0/>).